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WEST BENGAL STATE UNIVERSITY 

B.Com. Honours Part-III Examination, 2021  

FINANCIAL MANAGEMENT 

PAPER: FMNA-VII 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

Answer question No. 1 and 7 and any other two questions from Q. No. 2 to 6  
১নং এবং ৭নং pেűর উtর দাও এবং ২নং �থেক ৬নং-এর মেধ° �য-�কােনা dিট pেűর উtর দাও 

1.  (a) Mr. X has deposited `5,000 in a bank at 10% rate of interest to be compounded 
annually for 5 years. Find out the amount he will receive after 5 years. [Given 

611.1CVIF)10.1( 5,10
5 ] 

3+2+5

(b) Determine the present value of `5,000 to be received after 5 years, when 
discount rate is 12%. 

(c) Distinguish between profit maximisation and wealth maximisation objective of 
a firm. 
একিট ফােমর্র মুনাফার সেবর্াcকরণ এবং সmেদর সেবর্াcকরণ উেdেশ°র মেধ° পাথর্ক° কেরা। 

 OR / অথবা
(a) Mr. X deposits Rs. 50,000 in a bank for 5 years at 8% rate of interest 

compounded quarterly. Calculate the amount he will receive after 5 years. 
[Given 486.1CVIF)20.1( 20,2

20 ] 

5+5

(b) Discuss the relationship between Risk and Return. 
Ɉঁিক এবং pিতদােনর মেধ° সmকর্ আেলাচনা কেরা। 

  
2. What do you mean be Lease Financing? Briefly explain the advantages and 

disadvantages of Lease Financing. 
ইজারার মাধ°েম অথর্সংsান বলেত িক �বােঝা ? ইজারার মাধ°েম অথর্সংsােনর সুিবধা ও অসুিবধা 
আেলাচনা কেরা। 

2+6+7

 OR / অথবা 
 Calculate weighted average cost of capital from the following particular of a 
company: 
(i) Rs. 10,00,000, Equity shares of Rs. 100 each. Present dividend per share 

is Rs. 25 with a market price of Rs. 250 per share. Estimated growth rate 
in dividend is 5%. 

(ii) Rs. 5,00,000, 8% Preference shares of Rs. 100 each issued at Rs. 95.  
(iii) 10%, Term loan of Rs. 5,00,000. The company received the entire 

proceeds of the loan. 
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(iv) 11%, 5-year Debentures of Rs. 5,00,000 (Rs. 100 each). The company 
received Rs. 105 per debenture. 

Assume that the optimum mix of capital of the company is represented in the 
amounts as mentioned above and the company is in a 30% tax bracket. 

  
3. Calculate market value of the firm (V) and overall cost of capital (K0) under 

Net Income Approach. 
Information: 
(i) Net operating income of the firm Rs. 1,00,000 
(ii) The total amount of investment is Rs. 5,00,000 
(iii) Assume that there is no corporate tax. 
Debt-equity mix of the company 

% of Debt Cost of Debt (Kd) Cost of Equity (Ke)
0% — 15% 
10% 10% 15% 
20% 10% 15% 
50% 10% 15% 
75% 10% 15% 

Which of the above capital structure will you recommend and why? 

12+3

 OR / অথবা 
(a) What is Optimum Capital Structure? 

সেবর্াtম মূলধন কাঠােমা িক ? 
3+8+4

(b) The following figures relate to two companies: 
 (` in lakhs) 
 A Ltd. B Ltd 
Sales 500 1000 
Less: Variable Cost 200 300 
 300 700 

Less: Fixed Cost 150 400 
EBIT 150 300 

Less: Interest 50 100 
 100 200 

You are required to calculate Operating Leverage, Financial Leverage and 
Combined Leverage with brief comment on results. 

(c) What do you understand by ‘Trading on Equity’? 
‘ইk°ইিট-র উপর কারবার’ বলেত িক �বােঝা ? 

  
4.  (a) What do you understand by working capital? Explain the concept of negative 

working capital. 
কাযর্করী মূলধন বলেত িক �বােঝা ? ঋণাtক কাযর্করী মলূধেনর ধারণািট ব°াখ°া কেরা। 

(3+3)+6+3

(b) State the importance of working capital in a business concern. 
একিট কারবারী pিতŸােন কাযর্করী মূলধেনর grt িববৃত কেরা। 
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(c) What is working capital cycle? 
কাযর্করী মূলধন চk কােক বেল ? 

 OR / অথবা 
 From the following information of Sun Ltd., determine the working capital 
requirement of the company. 
(i) Expected annual sales: Rs. 12,00,000 
(ii) Analysis of sales:  Materials– 60%, Expenses– 15% and Profit– 25% 
(iii) Credit allowed to Debtors– 2.5 months 
(iv) Credit allowed by Creditors– 1.5 months 
(v) Raw materials in store– 1 month 
(vi) Processing period– 2 months 
(vii) Finished goods in store– 3 months 
(viii) Bank Overdraft– Rs. 80,000 
(ix) Cash in hand– Rs. 20,000 
Assume that the production is carried on evenly during the year and expenses 
accrue similarly. 

15

  
5.  (a) A company is considering two projects – A and B. From the following details 

calculate Discounted Payback Period of the two Projects and comment which 
project should be accepted by the company. Assume 10% cost of capital. 

Project Cash 
outflow 

(Rs.) 

Cash inflow at the end of (Rs.) 

  1st year 2nd year 3rd year 4th year 5th year 
A 25,00,000 — 5,00,000 20,00,000 14,00,000 14,00,000 
B 40,00,000 10,00,000 14,00,000 16,00,000 17,00,000 15,00,000 

The present values of Re. 1 at 10% discount rate are as follows: 

Year 1 2 3 4 5 
P.V. 0.909 0.826 0.751 0.683 0.621

 

10+(2 2
1 +2 2

1 )

(b) Briefly explain the advantages and disadvantages of Payback Period Method. 
Payback Period পdিতর সুিবধা এবং অসুিবধাgিল সংেkেপ আেলাচনা কেরা। 

 OR / অথবা 
(a) Z Ltd. is thinking of investing in a Project costing Rs. 20,00,000. The life of 

the project is 5 years. The company follows straight line method of charging 
depreciation. The tax rate is 30%. The expected cash flows before tax are as 
follows: 

Year 1 2 3 4 5 
Estimated cash flow 
before depreciation 
and tax (Rs.) 

4,00,000 6,00,000 8,00,000 8,00,000 10,00,000 

Calculate Net Present Value (NPV) of the project assuming 10% cost of 
capital. Also comment whether the project should be accepted by the company. 
The discounting factor at 10% are 

Year 1 2 3 4 5
Discounting factors 0.909 0.826 0.751 0.683 0.621 

 

10+(2+3)



B.Com./Part-III/Hons./FMNA-VII/2021 

3056 4

(b) What do you mean by Internal Rate of Return (IRR)? Briefly explain the 
advantages of Internal Rate of Return (IRR) method. 

আভ°nরীন pিতদােনর হার (IRR) বলেত িক �বােঝা ? সংেkেপ আভ°nরীন pিতদােনর হার 
পdিতর সুিবধাgিল আেলাচনা কেরা। 

  
6.  (a) From the following information, calculate the market price of a share using. 

Gordon Model assuming payout ratio is (i) 20%, (ii) 50% (iii) 80% and 
comment. 
 Total Investment in assets —  Rs. 10,00,000 
 No. of Shares —  50,000 
 Total earnings —  Rs. 2,00,000 
 Cost of capital — 16% 

12+3

(b) Mention the objectives of Dividend policy. 
লভ°াংশ নীিতর উেdশ°gিল উেlখ কেরা। 

 OR / অথবা 
(a) Briefly explain the factors to be considered for formulating the dividend policy 

of a firm. 
একিট কারবারী pিতŸােনর লভ°াংশ নীিত িনধর্ারেণর �kেt িবেবচ° িবষয়gিল ব°াখ°া কেরা। 

9+6

(b) Mention the assumptions of Walter Model.
ওয়াlার তেttর অনুমানgিল উেlখ কেরা। 

  
7. What are the requirements of effective financial control? 

কাযর্করী অথর্ৈনিতক িনয়ntেণর উপাদানgিল িক িক ? 
10

 OR / অথবা 
 Briefly explain the role of the following financial tools in financial control 
(any two): 
আিথর্ক িনয়ntেণর �kেt িনmিলিখত িবষয়gিলর ɛিমকা সংেkেপ ব°াখ°া কেরা (�য-�কান dিট) 
(i) Budgetary control 
 বােজটমূলক িনয়ntণ 
(ii) Fund Flow Statement 
 তহিবল pবাহ িববরণী 
(iii) Return on Investment. 
 িবিনেয়ােগর উপর pিতদান। 

5+5

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / 

Whatsapp to their own respective colleges on the same day / date of examination within 
1 hour after end of exam. University / College authorities will not be held responsible 
for wrong submission (at in proper address). Students are strongly advised not to 
submit multiple copies of the same answer script.  
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